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logm

logm v =x— 210gm U OR logpu=lognv—y

2x+y

3

42 or logy =X or (sz +-—)

v=x—2(logmv—y) or logpu = x—2logpu—y

B3

B2

Bl

14

a) 8

24+ k

16.5+ 5}]3 = 17.25

12

b) 14.625 saa

|35+[ ]3

Bl

Bl




a}i'u_u 1._\_____“___‘ MARKS | FULL MARKS |
jp+_3_p +12 151 3
o 25 25(1 - p) = <o 4
B2
) (2 1) (3
PO 0O va-nee
16 [ab
e 3
1 b
E(&J (‘2;) B2 3
i Bl
-aaqr ;
17 | A= 30 1
2
A—4=2(13)or 6p =12 1
18 a}u=-':-:- 1
s 3
b}p(zf ") or p(\@—g) or
V3p — I;—” [Shaded area = area of triangle — area of sectors] B2 4
%(Zﬁ)zsinﬁﬂ" [Area of a triangle] OR B1
%(@z G) [Area of a sector]
19 a)';"—l 1
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